et e (B2 hR)

(Fr27E3R 198 4ER)

KAMEHRIRIE T, FHFTHAVERT -2 OEEERBETY .
SH®. HBICEBNELDEENHYFEITDT, HoMLHITEIESL,

1. BB
H26.1~12 H25.1~12 || H26.4~H27.1 |H25.4~H26.1 H26E & H26E[E H26
12H 18 (H26FE RE) | BIERYD) |[(H26FEERED |FIEERED|| F1mFE | F2myH | FE3myH
HEr-ERAHE 30,282 23,166 || 333,128 | 336,058 265479 | 268,792 77,748 83,474 81,091
(A1.3) (A0.1) (A0.9) (A4.2) (A1.2) (A2.3) (A0.8) (0.1)]  (A33)
- 29,717 22661 326,033 | 328436 259,679 | 262472 75,969 81,662 79,387
i (A1.1) (0.3) (A0.7) (A42) (A1.1) (A2.2) (A0.5) (03)]  (A3.2)
—_— 565 505 7,095 7,622 5,800 6,320 1,779 1,812 1,704
(A123)] (A129) (AB.9) (AB.0) (A8.2) (A58)| (A103) (A54) (A75)
= [F 2,909 1,979 29,738 31,125 24,449 25,842 7,282 7,363 7,825
(3.1) (A84) (A45) (A3.9) (A5.4) (A3.1) (A37)| (A82)| (A34)
] = 11,251 10,810 124,444 117,674 106,516 98,787 32,753 30,914 32,039
(13.1) (21.0) (5.8) (A1.1) (7.8) (0.2) (1.7) (5.7) (6.2)
E R4 9,843 9,620 111,772 103,978 95,572 87,686 29,673 27,984 28,295
(11.3) (21.4) (7.5) (A3.0) (9.0) (A0.2) 9.7) (7.9) (5.7)
& B 44442 35,955| 487,311 484.857| 396,445 393,421 117,784 121,751] 120,955
(2.3) (4.9) (0.5) (A3.5) (0.8) (A1.7) (1.2) (0.9)| (A1.0)
HE X o 20,231 27554 212,983 177,198[ 194,348 150,491 57,095 54,087 55,612
(30.4) (100.8) (20.2) (A3.6) (29.1) (0.8) (26.3) (21.7) (18.0)
2. B
H26.1~12 H25.1~12 || H26.4~H27.1 |H25.4~H26.1 H26E & H26E[E H26 &
128 18 (H26FE RE) | BIERYD) |[(H26FERED |FIEERED| F1mFE | F2mpH | FE3miH
P | mmEEr 3,618 3,237 41,292 43075 32,991 33,959 9,450 10,280 10,024
c (A2.3) (10.3) (A4.1) 0.7) (A29) (A1.7) (A56) (A14)] (A54)
o 5,220 4533 58,508 54,254 49,239 45884 15,459 14,419 14,828
(5.2) (4.4) (7.8) (2.1) (7.3) (3.6) (7.8) (10.7) (4.6)
? | xEERE 185 136 1,999 1,881 1,697 1,541 488 519 554
N (A3.6) (20.4) (6.3) (A11.6) (10.1)]  (A10.0) (7.3) (11.9) (8.8)
7 e EE 1,408 1,190 12,672 13,696 10,944 11,101 3,080 2,930 3,744
n [fEERET (27.8) (18.1) (A75) (16.2) (A1.4) (3.6) (A9.0)] (A11.6) (10.3)
3. BIrHBEERERRUERFERMEHMmEE KA
H26.1~12 H25.1~12 || H26.4~H27.1 |H25.4~H26.1 H26E & H26E & H26 &
128 18 (H26FE R | BIERYD) |[(H26FERED |FIEERED|| F1mFE | SF2mypH | FE3mi
B HEEAES 19,911 20,273 245916 | 240,188 198,836 | 196,614 55,891 62,246 60,426
(5.2) (A0.6) (2.4) (A2.0) (1.1) (1.2) (A1.4) (2.4) (2.9)
e 18,919 20,400 - - - - - - -
AIERM | (10 (5.5) - - - - - - -
ERAHE 31 14 401 437 324 354 102 98 110
BT s = (A184) (A548) (A82)] (A15.8) (A85)  (A201)[ (A19.7)] (A20) (14.6)




4. FBHEERER

H26.1~12 H25.1~12 || H26.4~H27.1 |H25.4~H26.1 H26E[E H26E & H264EE

128 18 (H26E 25 | BTERY) (H6EE R |GTEERS)| B1mEH | Somts | H3mEH

== TR 2,343 1,877 25,710 24,644 22,026 20,845 6,443 6,791 6,915

(0.6) (6.2) (4.3) (A1.3) (5.7) (A1.6) (3.6) (9.3) (4.1)

N 19 16 215 247 181 210 58 54 53

4 oA (A38.7) (0.0)] (A13.0) (138)) (A138) (88)] (A49)| (A280) (A86)
ST 24 12 210 238 173 216 40 53 68

) : (A226) (A520) (A11.8) (33.7) __(A19.9) (37.6)) _(A16.7) (1.9)[ (A25.3)
B I 7 2 39 29 37 25 9 12 14
(0.0) (0.0) (345)| (A17.1) (48.0)) (A16.7) (0.0)]  (500.0) (0.0)

~ = 2,393 1,907 26,174 25,158 22,417 21,296 6,550 6,910 7,050

= (0.0) (5.5) (4.0) (A0.9) (5.3) (A1.2) (3.3) (9.0) (3.6)
H26.1~12 H25.1~12 || H26.4~H27.1 |H25.4~H26.1 H26E[E H26E & H264EE

128 18 (H26FE RE) | BIERYD) |[(H26FERED |FIEERED|| F1mFE | F2mpH | FE3my

. 0 0 0 0 0 0 0 0 0

L |EETH (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
* & z 0 0 9 4 7 6 5 1 1
= (0.0)| (A 100.0) (125.0)]  (A50.0) (16.7)]  (A25.0) (66.7) (0.0) (0.0)
ST 0 0 0 0 0 0 0 0 0

5 : (0.0) (0.0) (0.0)] (A100.0) (0.0)] (A100.0) (0.0) (0.0) (0.0)
w 0 0 1 0 1 0 0 0 1

e (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Sl 0 0 10 4 8 6 5 i 2
= (0.0)| (A 100.0) (150.0)]  (A55.6) (33.3)] (A33.3) (66.7) (0.0) (0.0)
H26.1~12 | H25.1~12 [ H26.4~H27.1 |H25.4~H26.1| H26%EE H26 & H26 &

128 18 (H26ERED) | BIERY) ||(H6EE R |FTEERL)| S1mEs | Boms | Hmts

== TR 46 15 389 363 320 331 92 95 118
(A8.0)| (A545) (1.2) (A8.3) (A3.3) (3.4) _ (A17.9) (30.1) (4.4)

= - 2 0 19 20 16 12 5 6 5
A (100.0)| (A100.0) (A5.0) (42.9) (33.3) 9.1) (66.7)]  (100.0) (25.0)

w = 0 0 14 14 11 12 4 6 1

= (A100.0) (0.0) (0.0) (AB.7) (A83)| (A143) (A429) (0.0)] (A80.0)
A~ = 48 15 422 397 347 355 101 107 124

= " (A9.4) (A57.1) (6.3) (A6.6) (A2.3) (2.9)  (A17.2) (40.8) (1.6)
H26.1~12 | H251~12 || H26.4~H27.1 [H25.4~H26.1|| H264EE H264ERE | H26%F[E

128 18 (H26E B35 | BTERY) (H6EERED |GTEERS)| B1mEH | Somts | H3mEH

== TR 80 62 845 1,012 664 909 189 203 210
(19.4)) (A16.2)] (A16.5) (12.6)]  (A27.0) (20.7))  (A36.4) (A285) (A17.3)

- 19 10 115 96 101 74 32 14 45

A (216.7)]  (100.0) (19.8)]  (A18.6) (36.5)] (A15.9) (60.0)| (A44.0) (87.5)

[ o 90 57 1,099 1,190 906 996 252 315 282
’ (3.4) (A17.4) (A7.6) (13.3) (A9.0) (14.0) _ (A16.0) (12.1)] (A18.5)

w 0 0 11 7 6 8 6 0 0

= (A100.0)| (A100.0) (57.1) (75.0) _ (A25.0) (166.7) (50.0)| (A100.0)] (A100.0)
= = 37 47 393 478 340 414 101 100 92
-~ (0.0) (42.4))  (A17.8) (19.2))  (A17.9) (16.9)) (A235)] (A225) (A233)

A = 226 176 2,463 2,783 2,017 2,401 580 632 629

= " (14.1) (A38) (A115) (12.6)] (A16.0) (15.9)  (A23.0)] (A122)] (A15.6)




